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QUESTION 1

A vSphere administrator needs to add redundancy to an ESXi 5.x management network on a vSphere Standard Switch.
Which method should the administrator use to create redundant management networks? 

A. Configure the management network vSwitch with two active uplinks 

B. Configure an additional management portgroup on the same vSwitch 

C. Create a second management network on a second vSwitch in the same subnet 

D. Create a second management network on the same vSwitch in the same subnet 

Correct Answer: A 

 

 

QUESTION 2

Why would an administrator be unable to locate an IP address for a vSphere vmnic uplink? 

A. IP addresses are defined at the virtual nic level, not the vmnic level. 

B. ESXi host vmnics communicate with physical switches on layer 3. 

C. ESXi hosts use NAT translation to mask the actual vmnic IP address. 

D. The IP address of the vmnic is not shown in the vSphere Client. 

Correct Answer: A 

 

QUESTION 3

An administrator needs to export system logs for an ESXi 5.5 host to determine the root cause for a host performance
issue. This host supports manifest-driven exports of system logs. Which manifest is selected by default during the
export system log wizard? 

A. Userworld 

B. Hostworld 

C. PerformanceSnapshot 

D. HungVM 

Correct Answer: A 

 

 

VCP-550 VCE Dumps | VCP-550 Practice Test | VCP-550 Braindumps                                2 / 4

https://www.passapply.com/vcp-550.html
https://www.passapply.com/vcp-550.html
https://www.passapply.com/vcp-550.html


https://www.passapply.com/vcp-550.html
2024 Latest passapply VCP-550 PDF and VCE dumps Download

QUESTION 4

A system administrator detects that a VDP Appliance that has been operational for 6 months has become inconsistent
or unstable. Which action should the administrator take to recover the VDP appliance and what will be the impact on the
vSphere environment? 

A. Perform a VDP rollback to the most recent validated checkpoint. All backup and configuration changes made after
the checkpoint will be lost. 

B. Perform a VDP rollback to the most recent validated checkpoint. Configuration changes after the checkpoint will be
lost, but backup data will remain intact. 

C. Restore a copy of the latest backup of the VDP appliance. All backup data and configuration changes after the
backup was made will be lost. 

D. Restore a copy of the latest backup of the VDP appliance. All configuration changes after the backup was made will
be lost, but backup data will remain intact. 

Correct Answer: A 

 

 

QUESTION 5

-- Exhibit -

-- Exhibit -An ESXi host\\'s networking is configured as shown. The virtual machine named Fileserver01 is unable to
ping anything on an external network: 

Which condition would explain this behavior? 

A. The vSwitch1 virtual switch does not have an attached vmnic adapter. 
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B. The Fileserver01 virtual machine is not running. 

C. vSwitch0 is configured to reject MAC address spoofing. 

D. vmk0 is using a non-routable IP address. 

Correct Answer: B 
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